65%
60%
55%
50%
45%
40%
35%
30%
25%
20%
15%
10%

5%

0%

Share of each group in the total

Figure 11.18. Inequalities with respect to capital & labour (France 2015)
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Interpretation. The 10% highest capital incomes account for 66% of total capital income, vs 5% for the 50% lowest and 29% for the next
40%. Regarding labour income, these shares are respectively 27%, 24% and 49%. Note. The distributions shown here are per adult annual income (the
incomes of couples were divided by two). Sources and series: see piketty.pse.ens.fr/ideologie.




